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1. Hadl framrEt afgelt Tede Ak it T el
(1) o €. w4 : (2) 3l 9rTEd
(3) VAT T (4) R R
First Family Planning movement started in Maharashtra by
(1) RD. Karve (2) Durga Bhagawat
(3) Shakuntala Paranjape (4) Janakka Shinde
2. 1857 <A1 IoT&TAT IR Y@ chaid! @ fergl.
(1) =ie, 3E, FAY, @ (2) @Y, SRE, SR, Fwa
(3) URN, W, fodl, SFgaeR (4) O, STIRTEE, TTRR, Teleel
Name four major centres of the uprising of 1857 ?
(1) Jhansi, Meerut, Kanpur, Lucknow (2) Avadh, Banaras, Banapur, Calicut
(3) Patna, Meerut, Delhi, Amritsar (4) Pune, Allahabad, Lahore, Gwalior
3. TENIPI Qe it YU Tedeidial hiv Iiag uRe  elnfeaan ' a1 e siead
T Bl 2
(1) SEfqen get (2) weRE e TS
(3) e BR <RE (4)  TITes TTUET SRR
Which social religious\pgfonmer pgteflé%l@ra@@quas popularly known as Lokhitwadi ?
(1) Jyotiba Phule (2) Mahadev Govind Ranade
(3) Gopal Hari Deshmukh (4) Gopal Ganesh Agarakar
4. okt dherear snfis siwomeEq Hieed! ofT smfwdty w9 o oAt § TMw it
1) =EEfd e (2) TTRTTE S
(3) GIHTAH A=W @) F3. qEm
wrote at length about economic exploitation in his work ‘Poverty and unBritish
Rule in India’. _
(1)  Justice Ranade (2) Dadabhai Naoroji
(3) Subramaniam lyer (4) K.T. Telang
5. Ty swyefegered= seqm yuma: Hige! e,
(1) 1950 =41 TegHAdIe JETeTd (2) ufeen s=afie T
(3) o YEEIR A (4) e A

Mixed Economy was envisaged for the first time in the .
(1) Preamble of the Constitution of 1950 (2) First Five Year Plan
(3) Second Five Year Plan (4) Bombay Plan

P.T.O.
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6. 1875 WA T ‘gfea form’ =it Taro S,
(1) SFeHE 94 ) TefERgaR =@
(3) T HIRT U 4) SHRER
During 1875 formed the ‘Indian League’.
(1)  Anand Mohan Bose (2)  Sisir Kumar Ghose
(3) Manmohan Ghose (4) Womesh Chandra Banerjee
7. T T I AT e B
(1) H.UH. UfieR () e e
(3) 9. TEINY Fe (4) TE.UH. SR
was the Chairman of State Re-organization Commission.
(1) K.M. Panikkar (2) Fajal Ali
(3) Pt. Hardyanath Kunjru (4) S.M. Joshi
8. ‘Tiw’' ¢ wmifew 7 ‘fereea’ ® #wuat wfaw T GE F.
(1) o1& A THeH (2) IR TEEHL
(3) e T feaw @) TS 9
Weekly Darpan ar\ﬂ,mmﬂ?s}éyeq}@‘ﬁ@bmgazine ‘Digdarshan’ was started by
(1) Balshastri Jambhekar (2) Bhaskar Tarkhadkar
(3) Bal Gangadhar Tilak (4) Bhau Mahajan
9. oAy 97T fa@mom qfad Fetedn s YURea T A1d 9.
(1)  TITes MUY IR () W S T
(3) BT IR AiEH @) =l T
Write the name of social reformer who was impressed by writings of Thomas Pen.
(1) Gopal Ganesh Agarkar (2) Mahatma Jyotirao Phule
(3) Dr. Babasaheb Ambedkar (4) Justice Mr. Ranade
10. SFHT TYHYA WA= A T e,

(1) o 7. feas® et g, M. e (2) M. F. M@ M M, 7. AR
(3) 7. T9 wewtenfren W, femd  (4) M. T rReR i AL 7. feew

The Deccan Education Society was founded by .
(1) B.G. Tilak and M.G. Ranade (2) G.XK. Ghokhale and G.G. Agarkar
(3) N.C. Kelkar and B.G. Tilak (4) G.G. Agarkar and B.G. Tilak

oAl HIMMEIE! ST / SPACE FOR ROUGH WORK
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11. i 2= enftr ol a1 fawd faem e * ydfas=m’ @ Xaea yeiifa et .
(1) e & eHE (2) <R iglT
3) WS HeSH (4) THFO faveTy
expressed his ideas about God and religion in his book ‘Dharma Vivechana’.
(1) Gopal Hari Deshmukh (2) Dadoba Pandurang
(3) Bhau Mahajan (4) Ramkrishna Vishwanath
12. 1918 A& A HER FA’ E FOAED I HA.
1) fdw wER (2) HTEUE @
(3) FURE WelHT (4) AT WG TEN
In 1918 issued an order abolishing the ‘Mahar Watans'.
(1) British Government (2) Punjabrao Deshmukh
(3) Krishnarao Bhalekar (4) Chhatrapati Shahu Maharaj

13. TRRIEKIE Hiv feeaiaed e Sl el Seed ?
(1) e 9 Tt (2) SGTETE | ST
@) RIS . upscieverEaim T T

The laterite soil is found in which of the following districts of Maharashtra ?
(1) Chandrapur and Gadchiroli (2) Aurangabad and Jalana
(3) Ratnagiri and Sindhudurg (4) Ahmadnagar and Nasik

14. WWWWWWWWHWWWWW?

(1) T (2) ¥ ETF
(3) g SRR (4) ST STRCH
Which of the following mode of transport is more used to carry goods and people in
India?
(1) Road transport (2) Rail transport
(3) Air transport (4) Water transport
15. YRa agarst YHRAT 59 TSl
1) 3RE @) vy () emEd (4) AT HIOAE AR
Most of rainfall in India is type.
(1) Convectional (2) Orographic (3) Cyclonic (4) None of these

P.T.O.
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16. RAwdie yfeer wHied fsiegt g 7 HeRmdie v feeam s 1.

(1) T (2) TR 3 ™ (4) faug

Which district of Maharashtra got the honour of being first tourism district of India ?

(1) Ratnagiri (2) Nagpur (3) Pune (4) Sindhudurg
17. e e §%er= g TeRIgmed Yorm Al arTd! ?

(1) T (2) SRmER (3) STRHSTN (4) ¥R

Which district in Maharashtra ranks first according to area ?

(1) Akola (2) Aurangabad (3) Ahmadnagar (4) Chandrapur
18. HEREMIA Haid Al &aa e Shg AY .

1) wEeE 2) HER

(3) SITIRY 4) TR

The highest capacity thermal power station is at in Maharashtra.

(1) Khaparkheda (2) Koradi

(3) Ballarpur (4) Durgapur
19. T e el WMGHRG GIRYEr .com

(1) 7415 (2) 10415 (@) 7417 (4) 10417

How many members can be in the Gram Panchayat ?

(1) 7to15 (2) 10to15 3) 7to17 (4) 10to 17
20. o9 9o sRET HIoAME1 AHHR FHIOMH R 2

(1) YR qgydt (2) HeH TsATET 9T

(3) TN HAHED (4) HaHa AT U

Who has power to dissolve Legislative Council (Vidhan Parishad) ?

(1) The President of India (2) The Governor of Concerning State

(3) Cabinet of State (4) Concerned Legislative Assembly
21. U UG UH G Rl 1 e ifgsa ?

1) 3 2 6 3) 9 4) 12

How many Gram Sabha meetings are to be held in one year ?

1) 3 (2) 6 B3 9 4) 12

AT HIHTETS! R / SPACE FOR ROUGH WORK
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22. UG TsFET ST THROAE ST,
(1) 26 SHER 1950 (2) 26 STHERT 1949
(3) 26 TR 1949 4) 31 fedem 1949
The Constitution of India was adopted on .
(1) 26t January 1950 (2) 26t January 1949
(3) 26t November 1949 (4) 315t December 1949
23. foeer fasH fommaHes=! s SR
1) 1972 (2) 1974 (3) 1975 (4) 1976 .
District Planning Development Corporation was formed on .
1) 1972 (2) 1974 3) 1975 (4) 1976
24, Tceame SEe 9 eI TEUaTs &1 I T8 ?
(1) fawfim smge (2) e gy Afuss
3) g =t WWW.Uupscfeveresrmr
Who maintains law and order in District ?
(1) Divisional Commissioner (2)  District Superintendent of Police
(3) District Judge (4) District Collector
25. AT HROTRT ATIGR a 3.
(1) —EEEse 9

(2) TR HEERTE
(3) 42 A TAGERATER <=y 4 s S,
(4) 44 N FSAGERATER ARSI 97 et TR

The Directive Principles of State Policy

(1) are Justiciable

(2) are not Justiciable
(3) became justiciable after 42" amendment
(4)  became justiciable after 44t amendment

P.T.O.
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(1) &% amY=Ea At 1958
) ErRE T4 foeer uitvg 9 v wfufa sfafms 1961
(3) HENIY TRUICTsh SHIAGT 1965
(4) TS AETRIICR HIGN 1955

Which Act was passed by Maharashtra Government based on report of Vasantrao Naik
Committee ?

(1) Mumbai Gram Panchayat Act, 1958

(2) Maharashtra State Zilla Parishad and Panchayat Samiti Act, 1961
(3) Maharashtra Corporation Act, 1965
(4) Mumbai Municipal Corporation Act, 1955
27. A9 WSS SiEE ERSRERIERIETURS | G]
(1) =T @) e e
(3) frda feaeum (4) wERHTEH
Our public life is regulated by the .
(1) Constitution and laws (2) Education institutes
(3) Regular Election (4) Media
.upsciever.com
28. TR A R A
(1) |9 (2) 3U-9urfd
(B) TETFREER AfuwR @) Te-fawm sAfamr
prepares the Budget of Panchayat Samiti.
(1) Speaker (2) Deputy Speaker
(38)  Chief Executive Officer (4) Block Development Officer
29. 9 FAGERA AT S el U Sl
(1) 729 ) 73%W (@) 747 (4) 75
Panchayats were given Constitutional status by the Amendment.
1 72 2) 73 @) 74 4) 75
30. TMYEEdE WG wivd 3THI.
(1) STEds () W
(3) dieft| grRie (4) THEEE
Who is the Ex-officio Secretary of Gram Panchayat ?
(1) Vice-Sarpancha (2) Sarpancha
(3) Police Patil (4) Gramsevak

ol hTHTETS! AT / SPACE FOR ROUGH WORK
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31. WS BUS
(1) < HRONYd SeHRAE T SO
(2) T FRUIYF THIS WETar o
(3) HRONYA Sk wrdl o firerl B ferd Freu
(4) SOeds gd
Analogy is :
(1) to take resemblances between two factors.
(2) to take differences between two factors.
(3) to draw conclusions based on resemblances and differences.
(4) all of the above
32. & formmren fowmmda mafie e 8.
(1) =meEn (2) SO BRELISES (4) o wea
In the development of science the basic stage is :
(1) definition (2) classification ~ (3) division (4) hypothesis
33. ‘gEWeHEr weS
(1) TR areEe 359 erver com
(2) TR A9EE 37°C 98 SIRA a6
(3) TR 99 37°C @ fee et
(4) AT RV TR
The term ‘Hypothermia” means
(1) fall in body temperature to below 35°C
(2) rise in body temperature to above 37°C
(3) maintain body temperature to 37°C
(4) None of these
34. FHUNUTE HRO UM :
(1) IR & S (2) A @O H e G
(3) THD 4) = dE
The reasons for malnutrition are :
(1) poverty and ignorance (2) fast eating and improper timing of eating
(3) famine (4) all the three above

P.T.O.
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35. WEKrH SI GUIEldlel Toheh 3.
(1)  AYIHA (2) q@
(3) i 4 ¥
The SI unit of power is
(1) horse power (HP) (2) joule
(3) erg (4) watt
36. TR ATE GOE' HIMIRE THeaand ?
1) fade 2) AR 3) fa=m (4) TS
“Plaster of Paris” is obtained from :
(1) Cement (2) Limestone (3) Gypsum (4) Bauxite
37. Wiyl M e g e o7 ?
(1) e 2) wEEE
3) wrrw (SR pScfevemcoga
Which of the following contains more percentage of Calcium ?
(1) Pulses (2) Apple
(3) Vegetable Oil 4) Milk
38. HIGAME 377 VN TEEIW HWiSfaat M ?
(1) wEEH ) whE (3) W (4) SOAYE! HIVE TG
The food in onion is stored in the form of .
(1) carbohydrates (2) protein (3) fats (4) none of the above
39. ‘HFR' (Sonar) ¥ IAM WA AcaTER =TT,
(1) wem fem ) = (3) e 4)
Sonar works on following principle :
(1) light rays (2) sound (3) echo (4) electricity

oAl &IMMETEl ST / SPACE FOR ROUGH WORK
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40. TI-d9E Yl SMGEA TEUATH A § |/ HHGHH! T & A9dl AT HROT

(1) ferswfear
(2) 9T T
(3) gBaM

(

4) EI-daTurEdt THCIe HEAHTA HH HAAT

(1)  Viscosity
2)  Vapour pressure
Surface tension

)
4) Higher density compared to surrounding medium

41. SmefTeRa Sfshar I G 3TEd ?

(1) == ) ud 3) Hd (4) wen
The process of modernisation is connected with :
(1) Society (2) Religion (3) Family (4) Institution

WWw.upscfever.com
42. QlIH! HIOT FREFATS TGN T TRl ? S

1) fode srEm (2) HRER FRGH

(3) THEA HREM (4) St RIvE e
Which of the following factory is not causing pollution ?

(1) Cement factory (2) Sugar factory

(3) Chemical factory (4) None of the above

43. OIgeN SliashETETS B2 a1 W g WY STt i S e Fee Sie ST ATHuaTHIS! Wi edeh!
SHYITET AT9 hel] S ?

(1) 3T qaT (2) fade a@

() et wd (@) Tl wwefen

What is used to find out holes or cracks in metal moulding or to study the wearing of
machines ?

(1) Infrared rays (2) Ultraviolet rays

(3) Radio waves (4) Radiation from isotopes

P.T.O.
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44. HIUE U TS TRV SR YA 3Teadl 2 )

(1) wrEEm (2) HIfyEH (3) hfewram (4) retEm

The most abundant metal present in the human body is .

(1) Sodium (2) Magnesium (3) Calcium (4) Potassium
45. TR TEHE S0 AR 3THA ?

1) 399 2 e 3) W= 4) =g

Which gas is present in Gobar-gas ?

(1) Ethane (2) Methane (3) Propane (4) Butane
46. rsuE qAETTE fae o= T T 37R.

(1) 100« 1000 FAHR (2) 173 100 A

(3) 501 500 AR (4) 500 @ 1000 FAHIEX

Nanotechnology includes developments in the molecular range of

(1) 100 to 1000 nm (2) 1 to 100 nm

(3) 50 to 500 nm (4) 500 to 1000 nm
47. Er 3= T D Scfever.com

(1) TESEER faaraes T Aeis

(2) eferama gEgeEE FR A

(3) BEGISEH YA SR HRTHoS

(4) TUCTish! HIVQE e

Solar energy is generated due to

(1) Conversion of Hydrogen into Helium

(2) Conversion of Helium into Hydrogen

(3) Conversion of Hydrogen into Water

(4) None of the above
48. ARV HIYeT ST AT FOTT SThTOTH U

(1) TEEHR (qThre) (2) WM (gramm)

(3) WM (ST (4) TR (SRamT)

An instrument used to measure relative humidity of atmosphere is called as

(1) Hydrometer , (2) Lactometer

(3) Manometer (4) Hygrometer

HeAT HIFTETS W1 / SPACE FOR ROUGH WORK
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49. Hrgeren fYd 9 a9 dqHa IR HIMHET Akl STHAT ?
(1)  AGEr HiedTHor HIOAEE (2) SEHMTET T HH! FOAHG!
(3) AYT AT FOITIS (4) TfaEaAET dEgesl wE FIUAHIS!
The reason for covering the walls and ceiling of an auditorium with fibrous material is :
(1) to beautify the auditorium (2) to reduce the cost of construction
(3) to make the auditorium fire-proof (4) to prevent echoes
50. Hald w3 qE B! ?
1) fm (2) dEE (3) St (4) feu
Which is the ‘hardest” material ?
(1) Lead (2) Iron (3) Aluminium (4) Diamond
51. Welierie! HIvM e afies aes’ o 2
(1) AFGAE (2) A (3) ToEuTE (4) TEETE
Which of the following \iﬁl\rll\?v‘fblfﬂll %%Fé\;er.com
(1) Psychology (2) Sociology (3) Politics (4) Chemistry
52. feaam <O 9 yiasy woarE! wiv sfwy sTeaeagd JHal 3 i a7 ?
(1)  FAREH (2) CamEd (3) Rwifafaa (4) et
For suppression and prevention of maleria drug is good to take twice in a
week.
(1) Chloroquine (2) Tetramisole (3) Refampicin (4) Tetramycin
53. AFat gaRmel (frediuesd) QIsurn T Sed Hed 37,
(1) esilem sAleme @) difesm sifee
(3) HRfer dehe 4) dRfe TR
The stones found in human kidney mostly consists of
(1) Calcium Oxalate (2) Sodium Acetate
(3) Magnesium Sulphate (4) Potassium Nitrate

P.T.O.
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54. 10 TedaR 2006 VS HRATE Som= SFHREHT STTRRRET YHAT faeamaen I+ Tod sTaswre@m
‘el aran = & %1 Bl 2
(1) HATRUSHE HYh A1 31
(2) SIfde gamEETE favey
(3) HsrErid Heila gurar HA™
(4) SATRUT TR TR GO HITgH
What was the purpose of space shuttle ‘Discovery” which carried Indian origin-American
astronaut Sunita Williams on 10t December 2006 ?
(1) Study of International Communication System
(2) Analysis of earth atmosphere
(3) Study of living organs on moon
(4) International space station repair mission
55. HEUIN ©alg Fell YROT FIQL.
1) <= 2) foafes (3) et (4) TIRT FHURE TR
Running sportsman possess energy.
(1) pressure (2) potential (3) kinetic (4) none of these
56. T (INSAT) Suyewivy [Fsiafeyfen et ?
(1) Ha (2) TR
(3) TEHETETE (4) ®EA (HAH)
The master control facility of satellite “INSAT” is at
(1) Mumbai (2) Bangalore
(3) Ahmedabad (4) Hassan (Karnataka)
57. g TR Yared THdd &R

(1) = o S .

(2) AT YEUW FehEehia STl

(3) A e TelaRE= WEAl HISt SHd

(4) =l dEE

Metals are good conductors of electricity because :
(1) they have high density

(2) they have bright surface

(3) they have large number of free electrons
(4) all the three above

e GIETETS ST / SPACE FOR ROUGH WORK
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58. ‘‘fegorear’’ a1 yaeE A WY TERIGUINT S Vi ?
1) = (2) TEM 3w (3) oifafmera (¢4) |
Which mosquito spreads the dreaded disease “Chikungunya” ?
(1) Culex (2) Aedes Egyptia (3) Anopheles (4) Tse-Tse
59. IV HIE YA Sl Heodid fE0 wevgre! sifaer yRemTehRes 3 ?

(1) <9 9E g &= AW
(2) IS HE F HEH o™
(3) TIgd A q HRY A
(4) ™A™ F Tt A

Which fishes are more effective to control the Mosquito larva in water ?
(1) Mosquito fishes and Glass fishes

(2) Cat fishes and Bart fishes

(3) Angel fishes and Barb fishes

(4) Mosquito fishes and Gappi fishes

- - - - - - wWwwupsefevereemd ——"—— — —— ———

60. WTACTTR! HITTT HieTEH FHTa e T &7 ?
1) (2) I (3) TR (4) Yo Hrel
Which of the following is a variety of Calcium Carbonate ?
(1) Glass (2) Paper (3) Marble (4) Washing Soda
61. g SA1fYe fasmramdrdt ENEEICRII I ORI
(1) o 2) YR (3) SYAR (4) =TT
For economic development of a Country type of inflation is necessary.
(1) Creeping (2) Running (3) Hyper (4) Walking
62. 5d foma ¥RV (Dual Price Policy) TXEm =1 fohmdTarRE e,
1) & () fade (3) dEE (4) WUIRERT dd
Dual Price Policy originally started with the price of )
(1) Sugar (2) Cement (3) Steel (4) Edible Oil

P.T.O.
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F YR [ahmcas @aid SV ueh Gy 3THand 2
(a) HHITSE o WIS dal
(b) Tt e
(c) TSI WA I anfefes wea
(d) e 3nfor Sl SsieR o @

® b, () @
2 @, () (9
@) © @ (@
@4 (), d) ()

Which items of developmental expenditure of the Central Government includes ?
) Social and Community Services
(b) Economic Services
(c) Grants in aid to States
d) Expenditure on Defence and External Affairs
) B © (@
) @, (), (o)
3 (© @ (@
) (b)) (@) ()

64.

www. upscfever.com
fordeil SATIRYRTT 2005-06 TR STESTaT el ST YNV SARR Shraqad
& %, B,
(1) 03 (2) 05 (3) 07 4 o
According to Foreign Trade Policy 2005-06 the duty free import for Gems and Jewellery
sector was Rupees lakhs.

(1) 03 (2) 05 (3 07 4) 01
65. SRANI HiESITh Qe Shiet HeEAT ol TR ?
1 22 Q) 27 @) 19 (4) 28
How many public sector banks are in India ?
(1 22 2 27 3) 19 (4) 28
66. A LT GERAT AN HIOGE Fa.
(1) 1978-83 (2) 1977-82 (3)  1979-84 (4) 1980-85
The Janata Party Sixth Plan Period was .
(1) 1978-83 (2) 1977-82 (3) 1979-84 (4) 1980-85

HTAT HIATETS JAAT / SPACE FOR ROUGH WORK
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67. WeilcTdsh! Hvrdl Qied! sTeh?T GURONST Geeid Te! 2
(1) e (2) A (3) s TN (4) e
Out of following which committee is not related to banking reforms ?
(1) Narasimhan (2) Nariman (3) Raja Chellia (4) Dantwala
68. 1991-92 =T SUNHITAR THIN TEra THIOT STMAq TRT ScATGATAT % TqAh
i A 3R ItE B
(1 27 (2) 39 (3) 49 4) 57
The target of the budget of 1991-92 was to reduce fiscal deficit to % of the
Gross Domestic Product.
1 27 (2) 3.9 3) 4.9 4) 57
69. WEETieh! HIG! TRATT e TLIASHd S el 2
(1) HRE o 2 TWAR
(3) WeW W% (4) fosmn o=
Which one of the following Indian bank is not a nationalised bank ?
(1) Corporation Bank f (2) Dena Bank
(3) Federal Bank WWW.UPSCIEVR(.COLL. Bank
70. MRAWE fHATaTGI SETERR TR G leTia! HIvdl Hesh AITISE 52 16! 2
(1) <wEE AfEbhae Q) R wd
(3) lea T (@) SORAWS I&d
Which of the following factor is not a demand-pull factor responsible for rise in prices in
India ?
(1) Uncontrolled growth of population (2) Government Expenditure
(3) Black Money (4) Fluctuation in output
71. dfecn Yeaiie Ao Job TRAEHR 1 W L
(1) fraifad=n (2) 3= iUy HreErE=n
(3) wrEaTe st fFaifaarar @) fraifaq, sm= snfor wEaERH
At the time of first Five Year Plan, India was facing the problem of
(1) Refugees (2) Food and Inflation
(3) Inflation and Refugees (4) Refugees, Food and Inflation

P.T.O.
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AT CRIeAT Jaiieh Fis< hlenasl T IR,
(1) 1997-2002 (2)  2002-2007 (3)  2005-2010 (4)

The duration of tenth Five Year Plan of India is .
(1) 1997-2002 (2) 2002-2007 (3) 2005-2010 . (4)

BDR

2000-2005

2000-2005

73.

U] T ASHd | fhHRaqasia w5 g ?

(1) dfgel daaTfte s , 2) Taad deenfi® e
(3) aE dganfe dre (4) <o deETiE de
In which Five Year Plan the general price level declined ?

(1) First Five Year Plan (2) Third Five Year Plan
(3) Nineth Five Year Plan ' (4) Tenth Five Year Plan

74.

WReta e e T TEme ST

(1) g | (2) awET

(@) foaust (4) omfef® aF

The Chairman of PIAVMAY CHRGGEQMEs CRIA is

(1) President (2) Prime Minister

(3) Finance Minister (4) Financial Expert

75.

T 2005-06 AT ACTTITRTER FT G ST HATET e,
1) 1 9@ T () 1.5T@ITE  (3) 2 @I (4)
According to budget 2005-06 the tax exempted income limit was

(1) Rs.1 lakh (2) Rs. 1.5 lakh (3) Rs. 2lakh (4)

60,000 TG

Rs. 60,000

76.

HRATHES Y| YT’ S1efbsed hive IsaM <1e] shell ?

(1) "I (2) SWHRW

(3) HEWE (4) dIHETg
Which State introduced ‘zero budget’, first time in India ?
(1) Madhya Pradesh (2) Uttar Pradesh
(3) Maharashtra (4) Tamil Nadu

el HTHTETS! A / SPACE FOR ROUGH WORK
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LEURERIRECR I
(a) TR @ v e o e Feh
(b) Y KA I IS
(c) Tierd o Surida sea
(d) TR WA qe

(1) (a) S (b) (2) (a) = (c) (3) (a) o1 (d) (4)

Gross fiscal deficit refers to

(a) Difference betweeen government expenditure and net lending.
(b) Current revenue and grants

(¢) Changes in Reserve Bank Credit

(d) Gross Primary Deficit

(b) ST (c)

1) @and() () @and@ () @and(d) (4 (b)and
78. 2004-09 ¥ fe¥il SR ¥R T e e,
1) ot %0 Seat (2) o %A Y
(3) &t % di.¥a (4) . fadey
Foreign Trade Policy 2004-09 was announced b .
(1) Mr. Arun Jetly WWW.UpsC eV&f.C . Kamal Nath
(3) Mr. K.C. Pant (4) Mr. P. Chidambaram
79. RVl TAT SIS U= o faehrd g Hala sied FHIona 91g, 91shal ?
(1) iesd =% (F) (2) g aE
@) s a5 (4) vt I8
Which import of goods, promotes maximum economic growth of a country ?
(1) Capital Goods (Machines) (2) Consumer Goods
(3) Petroleum Goods (4) Pharmaceutical Goods
80. 3TN ANET THY TH T e,
(1)  6,70,000 St (2)  7,71,000
(3)  8,71,000 FIel (4)  9,71,000 FI
The total outlay of Eighth Plan was Rupees .
(1) 6,70,000 crores (2) 7,71,000 crores
(3) 8,71,000 crores (4) 9,71,000 crores

P.T.O.
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81. 1966 =T TYITAT HAHATHAR VRt faid a& el fHeere.
(1) @an (2) T
(3) Tehwdr=n ' (4) @ AT It
After devaluation of the rupee in 1966, Indian export goods got a advantage.
(1) Cost (2) Receipts
(3) Price (4) Cost and Receipts
82. IWTAE HT ArHe Gt & 1976 TEA (=T EAETe] AU ST g,
(1) o s e 2) =i . T wH
(3) & AHSET (4) STA &
T?e Indirect Tax Enquiry Committee was constituted in July 1976 under the chairmanship
0 .
(1) Mr. Raja Chelliah (2) Mr. V.L. Kelkar
(3) Mr. Lakadawdl¥VW.UpPSCfevegomir. LK. tha
83. WA WA M= G 314 Srafad it WA fageft samr fafis Suisier s s
(1) (2) fgErEd (3) U= (4) enflme
Direction of India’s foreign trade indicate that India’s foreign trade has become more
diversified and its excessive dependence on countries has declined.
(1) SAARC (2) OECD (3) OPEC (4) Africa
84. IS T ¥ A YedIt IS <vard S,
(1)  foe (2) whem (3) W (4) wiEe
Garibi Hatao slogan was given in five year plan.
(1) third "~ (2) fourth (3) sixth (4) fifth

HoedT RIATEIS! AT / SPACE FOR ROUGH WORK
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e FenemaE! et S e T faara Saa S ?

(#) AT

(9) wWufHS a5 T

(F) IR & T

(1) e () 2) (1) sufor (=) S
(3) = (F) 4) e wd

Which one of the following Commodity groups are considered for working out average
index ?

(@) Fuel groups

(b) Primary articles

(c) Manufactured Products
(1) Only (a) (2) Both (a) and (b)
(3) Only (c) (4) All of these

86.

IR TR 1962WWWW—W gRufawas QiR 37y S0 8 ?

1) 41 qeeitan 2) . AL, a. fg

@ W.upscféQer.c?m

(3) ol e Y (4) 9. Ty

Who was the chairman of ‘Import and Export Policy Committee” appointed by the
Government of India in the year 1962 ?

(1) Mr. Mudliar (2) Mr. V.P. Singh

(3) Mr. Kamal Nath (4) Mr. P. Chidambaram

87.

‘TR St AT AT BV b A SR GIAE A’ e Hen ?
1) . s 2) TH &t M (3) 3Tyl I (4) o &

Which one Bank has launched a new health cover scheme under the name of ‘Arogya
Shree’ ?

(1) P.N.B. (2) S.BL (3) Andhra Bank (4) O.B.C.
88. WIS werTaTe = & 71 o] Heifye €.

(1) 1991-92 2)  1995-96 3) 1996-97 (4)  1999-2000

The rate of inflation in India was the highest in the year .

(1) 1991-92 (2) 1995-96 (3) 1996-97 (4) 1999-2000

P.T.O.
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89. YRAMEA JUWH T[ETT HE HIVcA] HEEH FT Fell ?
(1) Wz A% 1 fem (2) TEE TR BURIHA
() e = w e (4) IeHITA THATHS & AE sfem
Which Institute introduced mutual fund first time in India ?
(1) State Bank of India N (2) Life Insurance Corporation
(3)  Unit Trust of India (4) Industrial Development Bank of India
90. Yfye TEi ShieA tfushd oI AigdA Tl LR T 3.
1) 50% ) 35% (B) 15% (4) e HITTART ATE
The share of the State Government in the authorised Share Capital of Regional Rural
Banks is .
(1) 50% (2) 35% (3) 15% (4) None of these
91. ET 1990-91 BAT SITUHYHTY! SATIET <M ST YR IH1 G TH YURHT=AT TFh
B,
(1) 51 (2) 62 (3) 15 (4) 43
As per 1990-91 ceMWn%S&f@wV@rtMrginal land holders were % of
the total land holders.
(1) 51 (2) 62 (3) 15 (4) 43
92. I AW foxita TN wmfoomt frer ween w=uH & HeH HIH H.
1) offewE d= (2) Wz dw AT e
(G) e (4) fo= d i e
is acting as apex institution which fulfil the financial needs in the rural area.
(1) Land Development Bank (2) State Bank of India
(3) NABARD ' (4) Reserve Bank of India
93. HENIPE AR &= ATfde: ARG &l AN T 3.
(1) 6.3 (2) 4.2 3) 2.9 (4) 8.5
The potential of yearly fish catch from marine area of Maharashtra is lakh
tonnes.

1) 6.3 ) 4.2 @) 2.9 (4) 85

HEAT HIFMEE! ST / SPACE FOR ROUGH WORK
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FiY IRl ATEATATIST | 2005-06 TR HENE EATHTGT Tadet Tae AEME Hivd ?
(1) FfY v
(2) ST TG SO SV hHshH
(3) Hfowm hmEE
(4) wEIfus

Which campaign is being implemented by Maharashtra Government in 2005-06 to increase
Agricultural productivity ?

(1) Krishi Saptak

(2) High yielding variety programme
(3) Land development campaign
(4) MAHA PIC
95. g U AN S G9NET Sy AY AR,
1) (2) TR 3) He3 (4)
National Research Centre for Cold-Water Fisheries is located at .
(1) Kohima (2) Bikaner (3) Mumbai (4) Nainital
www.upscfever.com
96. ST WISUAR G (faeww) T .
(1) 3felta e SHATFES ) foereifem
(@) STwIRE 4) SrERA
The bitterness or kernel in Groundnut is due to
(1)  Allyl propyl disulphide (2) Butatoxin
(3) Aflatoxin (4) Lycopene
97. THRTuNcHSH, IR, T ST ST a1 Th i RO MY sTHIESHIGR SIo=T <graren

AT T e AL

1) rfER 2) fSow =its

(3) it AYH (4) wIf9Ed 9=

Combined effect of radiation, wind, temperature and humidity on evapotranspiration
losses from plant is studied by )

(1) Tensiometer (2) Gypsum block

(3) Water meter (4) Pan evaporemeter

P.T.O.
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WENIE 5 A 6o STRRTTER (1999), TSI S fa= amar TG TR 3T
(1 72 (2) 54 3y 126 (4) 154

According to Maharashtra Water and Irrigation Commission (1999), the irrigation potential
of the State could be lakh ha.

(1y 72 (2) 54 (3) 126 (4) 154

99.

AT TS HREI Faid oF HIg 3TR.

(1) RS geget (2) ] TERORT 37
(3) wREA HvAT (3wt ) 4) Vel T s
The most serious pest of cashewnut is in our State.

(1) Cashew hopper (2) Cashew borer
(3) Tea mosquito (4) Shoot borer

100.

__ue () g fyemdia get o Mt Svarars! arqudnd e,
(1) TR-AF-10 @) fewez-23
@) fae-wrdiR-10 @) E-stet-g-fa
Gene is used for developing the dwarf varieties in wheat crop.
(1)  Norin-10 (2) Tift-23
(3) Milo-Khapir-10 WWW. U pscfe\(er. doHaAGeo-Woo-Gen

101.

faeuidiel ashai=a1 AT TR AHIATIUl BIREUATEIS! TF M 2005-06
EISIRSIE SN
(1) fHEE SR FE e
(2) ugE wfu enfon wigw fawe 9%
(3) TERE I FH IUH Hee
(4) THIUS AEH Al @Ecie HeE
In order to deal effectively with the problem of suicides of Vidarbha farmers, the State
Govt. has established during 2005-06.
(1) Kisan Credit Card Scheme
2) National Bank for Agriculture and Rural Development

(
(3) Maharashtra State Agricultural Marketing Board
(4) Vasantrao Naik Sheti Swavalamban Mission

102.

TeeT H I HIar=al Hehdld qromHes SFETH FE!.

(1) faerdten (2) g (3) frmst (4) WU
A Golden Rice Hybrid, variety of Paddy contains nutrient.

(1) Betacarotene  (2) Glutenin (3) Niacin (4) Colesterol

HeAT HIATATS W / SPACE FOR ROUGH WORK
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103. 7 2003-04 HEY HERIPN TpvT Hiifersh &=m= TFh & g 2.
(1) 3320 (2) 2534 (3) 1519 (4) 20.13
During 2003-04, considering the total geographical area of Maharashtra State,
% area was under forest.
(1) 33.20 (2) 25.34 3y 15.19 (4) 20.13
104. Fea it S feman exuam afor Y= 9ot IIET AT SretavarErat
HEd B
(1) TR (2) fe= (3) =XEd (4) ST
helps in water conservation and increasing water use efficiency of a crop.
(1) Ploughing (2) Irrigation (3) Top dressing (4) Mulching
105. ST STEIH 2 AR
(1) TowEd (2) rfen (3) e (4) HSI
Pine-apple is originated from country.
(1) Israel (2) Australia (3) Brazil (4) Canada
106. fous fHT-ER Wvarqy @d Svar= dgdien 319 TRUAM.
(1) TERA W@?ﬁ ﬁ%ﬁ?ﬂ (4) A
Application of fertlhzers t ou Tip 1rr1ga 1on system is known as .
(1) Herbigation (2) Fertigation (3) Navigation (4) Irrigation
107. TRRIY Al W H1qH frwramee & Negama e,
(1) Tl (2) FIAHTS (3)  3THYEdt (4) TR
In Maharashtra, the highest area under cotton crop is in district.
(1) Parbhani (2) Yavatmal (3) Amravati (4) Akola
108. T AR TAH! el It Thed.
(1) 80 (2) 85 (3) 9 (4) 95
Calories energy is received from One egg.
(1) 8o (2) 85 (3) 90 (4) 95
109. RRPNE RN == faur w1, gaiftus 3 Hafauarmn Sa = )

(1) =g (2 9 (3) TR AFE  (4) T
When income from different forest produce of Maharashtra is considered, the source of
highest income is :
(1) Bamboo (2) Tendu (3) Timber (4) Grass
P.T.O.
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110. WERIZ @Y 20062007 A Hailteh 3cqe7 SUR Wk Ul g
(1) (2) EEfaA 3) T’ 4) R
The crop with the highest production in Maharashtra during kharif 2006-2007 was
(1) Rice (2) Soyabean (3) Wheat (4) Jowar
111. THHET T (€ W) ARV HIOR FAd =Ias T 3R,
1) TI30 (2) TI100 (3) T 1500 (4) TISTA
The most dangerous causative strain of Avian Flu is .
(1) H30 (2) N 100 (3) HN 1500 (4) HS5NI1
112. wfv=m Herg fawrrea Siqid ‘s "4 Sdted v Wi gl s =i ?
(1) TEd (2) TOE (3) ¥R (@) "R
Name the Research Station doing research on ‘Dangi’ breed in western Maharashtra
region :
(1) Rahuri (2) Igatpuri (3) Pandharpur (4) Mohol
113. TEY §Y OH [JIER e RO AT .
1) FWH (2) fEa (3) TEifem (4) TRN
Cow milk is light yellowish, due to presence of
(1) Carotene.  \W\AN. L@@Qﬁever cofm Riboflavin (4) Lactose
114. HENEM |F 2004-05 WEA AT S0l QAT TIAR TR &FAE ANEE el
(1) 485 (2) 3.50 (3) 2.00 (4) 265
In Maharashtra during 2004-05, Social Forestry Department carried out plantation on
thousand hectares.
(1) 4.85 (2) 3.50 (3) 2.00 (4) 2.65
115. S99 SH GURTITER! F3T ARG AR FHIAT ?
1) TE ) o= (3) whreHl (4) IS
Which soil amendment is used for reclaimation of alkaline soil ?
(1) Lime (2) Gypsum (3) Coal (4) Salt
116. SR G S0@ A0TT QOA &R JE107 3tfdeh 3@e o= vgq iy
EARCTRGESH
(1) WA (2) YBHETERI 3) fou= (4) S
If salt content of irrigation water is higher, irrigation system will be more
useful.
(1) sprinkler (2) surface (3) drip (4) lift
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117. B HISE SR GIRIT a0 3R,

(1) SR (2) fefasm (3) fawe (4) TS

is the Kabuli variety of chick-pea.

(1) Akash (2) Digvijay (3) Virat (4) Rajas
118. 3o TAWE M (St 6%) WEAT Teiiue (38 6%) |IHRomo) AR,

(1) g™ (2) feswe (3) Tawme (4) e

In our State, population of cows (including bulls) is about times more than

buffaloes (including bulls).

(1) Two (2) One and half (3) Three (4) Four
119. TF WIUARE AR o1 fqummmed <.

(1) Hfy=m weEry () @™

(3) fomd 4) w0

Sea water fishing is done in the region.

(1) Western Maharashtra (2) Khandesh

(3) Vidarbha (4) Konkan
120, e St wﬁﬂwﬁv,upscteyﬂatom

(1) TR TR (2) SANYHM TRE

(3) =g (4) THEAE! HARl

In situ water harvesting is done by .

(1) Contour ploughing (2) Down the slope ploughing

(3) Soil compaction (4) Spraying chemicals

121, 3de Mfgadret ‘Amar’ 3 fiae hae T R Afear HIo1 % ?

(1) gfa sm (2) e Al e

(3) g forewy (4) T SEMEAE

Who is the second women selected by NASA for Space campaign ?

(1) Sunita Arora (2) Kanchan Choudhari Bhattacharya
(3) Sunita Williams (4) Padma Bandopadhyaya

BRI CEOE E R EE R I CCRIRSISUC IS IR
(1) 16¥=E (2) 16 HLH (3) 16 fedaX 4) 1634
“World Ozone Day” is celebrated on :

(1) 16th March (2) 16th September (3) 16th December (4) 16th June

P.T.O...
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IIRER SATUMET 2001 =7 SR & HIGRAT Sah T TR :
1) 54.16 2) 64.16 (3) 68.16 @ 70

According to Census of India, 2001 female literacy is :
(1) 54.16 (2) e64.16 (3) 68.16 4 70

124.

T& Te= IR &4 STUE A e .
(1) g (2) et (3) HIR (4) si=iea
Four major satellites of Jupiter was discovered by :

(1) Newton (2) Galileo (3) Keplar (4) Aristotle

125.

et g1 fedt fasae e SterTaR SMuRia S

(1) & fer (2) er A

() el A (4) IS HITHH
The “Black” movie in Hindi is a story of :

(1) Helen Keller (2) Graham Bell
(3) Fredric March ' (4) Ronald Colman

126.

3rEYdl A A WA IaR! I W RUTGHEE I
www.upscieve C @ e

(1) e ed e 3k e

@) AT == (4) FUH R

Which of the following is the Booker prize winner novel of Arundhati Roy ?

(1) Last Orders (2) The God of Small Things
(3) Heat and Dust (4) In a Free State

127.

91 =T He TERAM AW ST GEAT Sl S fehell STETall 318 Wifdet 3718 ?
(1) SHHI IR G 5%.

(2) AHAT T THAHSA IS AT 7%.

(3) TREYT WS W& 10%.

(4) TG YEITAT GHTEGE 15%.

What should be the maximum strength of Council of Ministers as per 91st Amendment of
the Constitution ?

(1) 5% of the total members of Lok Sabha.

(2) 7% of the total members of Lok Sabha and Rajya Sabha.

(3) 10% of the total members of the Lok Sabha.

(4) 15% of the total member of Ruling Party.
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128. ‘"o feeim fadt’ a1 TEn fowfed 2 seed IRae 6T HIo ?
(1) =R (2) W= @) #TE (4) e
What is the name of the City in India, which is being developed as ‘Global Telecom City” ?
(1) Banglore (2) Madras (3) Mumbai (4) Patna
129. TEEAT YoETe oM TEE ST A Jgiet < fafaa s omR.
1) 8 2 7 Q) 6 ) 9
Tenth Five Year Plan lays down target of per cent annual growth for the
economy.
(1) 8 @ 7 (3) 6 4) 9
130. VT HATHREAFN AAGTA Hael Hed ?
1) (2)  hicifer (3) el (4) erdien
What was the name of space shuttle that landed man on the moon ?
(1) Eagle (2) Columbia (3) Challenger (4) Apollo
131. ‘W’ﬁmmmwm :
~ scfeve co
(3) HeEred anfh R%IT\{I{VW up %Trq arrfor |forge
‘Khasi’ is a tribal community found in :
(1) Assam and Nagaland (2) Assam and Meghalaya
(3) Meghalaya and Manipur (4) Mizoram and Manipur
132. 1885 Wiell Higw™ e AMATH Gag A WA, Ao NeAUS AT [
(1) U T 99 (2) IR H. g™ (3) = WL TS (4) WL T =R
First conference of Congress was held at Mumbai in 1885, the chairperson of this meet
was :
(I) A.M. Bose (2) R.C. Dutta (3) W.C. Bannerjee (4) B.N. Dhar
133. %A R YSaa &S 11 8 raer G G HIvEr el IR 9Sel ?

(1) 9a anfr smafien (2) 9Ra anfo W

(3) 9Ra anfh e (4) @ enftr srfeeferan

In which country, the joint parade of Naval Force of Garud-II was held ?
(1) India and America (2) India and France

(3) India and Israel (4) India and Australia

P.T.O.
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134. WRAT GEATET 10+ 2 +3 2 Fero ugelt =1 smaivm gefaet
1) TH WA (2) T SE
(3) HIBRI AR (4) FSTHL
The present 10+2+ 3 system in education is suggested by this Commission :
(1) NCERT (2) Yashpal Commission
(3) Kothari Commission (4) U.G.C
135. TEierih! IV T < Fhal (SAARC) HeH e ? , :
(1) ¥ (2) weres (3) Hrd (4) EeHfeEn
Which one of the following State is not a member of the SAARC ?
(1) Bhutan (2) Maldives (3) India (4) Indonesia
136..  fefemn wridar QEeR’ oy faesrer ?
(1) ST A aREE (2) . IEHIUE MERER
(3) T, TH, @ (4) IR Tw
Who was awarded the ‘Hiroshima Peace Award” ?
(1) -Dr. Raghunath Mashelkar (2) Dr. Vasantrao Govarikar
(3) M.S. Swaminathan (4) Vasudev Chakrawarthy
137. Hifec STEEH FoenAMAYY AT e GO W= feeh 2

(1) e @ = (3) FE (4) s
Which language is recognised as First Classical Language by Sahitya Academy ?
(1) Bengali (2) Urdu (3) Kannada (4) Tamil

138.

FSAAERY AT ITAT ThSUATHEST Tsaaiei! HifgH hIow! ?

139.

(1) SR T () e e

(3) SIRME TES (4) SO SeeHd
Which campaign was formed to capture the sandal smuggler Veerappan ?
(1) Operation Cuckoon (2) Incredible India

(3) Operation Garud (4) Operation Gentleman
"gefe el 2005 T v fers g

(1) Ee =EH (2) Vel U4

(3) wRTH (4) i &4

Who has been selected as “Tourist Beauty 2005 ?

(1) Sonal Chauhan (2) Aishwarya Rai

(3) Lara Dutta " (4) Susmita Sen
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140. 1 Yo forq o Shear A 2
(1) 2005 (2) 2006 (3) 2007 (4) 2008
When will be the next Leap Year ?
(1) 2005 (2) 2006 (3y 2007 (4) 2008
141. G.P.RS. 1 H&Ed %I AHiet Y= Vi 4 ?
(1) et et et o deamse
(2) A Uihe e widad
(@) ToEw geiee s fawm
4) TR Toud gl wihe
What is a full form of GPRS service in mobile phone ?
(1)  Global Positioning Receiver through Satellite
(2) General Pockect Radio Services
(3) Global Position Reciver System
(4) Ground Pulses Reciving Socket
142, e O A 398 A ST er.com .
(1) <RI &, Tl (2) TFeS THh. A
() T=Y, . JSHA (4) o o9HET
“X-rays” was discovered in 1895 by :
(1) Wilhelm K. Roentgen (2) Donald F. Duncan
(3)  W.L. Judson (4) Elisa Thomson
143. 2007= fava Fisw fde Tl Hiomn M SIS Hear dr?
(1) <o enfeer (2)  erefern () FEe 4) IR IET
In which country World Cup Cricket Tournament was held (in 2007) ?
(1) South Africa (2) Australia (3) England (4) West Indies

144. HERTY Tyl AR 9= ford? 31ed 2

1 4 2 s (3 6 (4)
How many members are of Maharashtra Public Service Commission ?
1 4 2 5 3 6 (4)

10

10

PTO.

HTT HIHTETE W / SPACE FOR ROUGH WORK
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T 2010 <1 TIFA 1T Tt A2 FUR 3R ?

(1) &N (2) wSg AMRHT  (3) HawET (4) W@
The 2010 Commonwealth Games will be held in .

(1) Quatar (2) South Africa (3) Malaysia (4) India

146.

2005 &1 S{te TRE qRERR IV fHera :

(1) 9. T STeh (2) T ¥d TRSHL
(3) . 9. S udE (4) THER TAS
Who was awarded “Jeevan Gaurav 2005” ?

(1) Prof. Ram Joshi (2) Dr. Jayant Naralikar
(3) Adv. P.G. Patil (4) Raghuveer Dayal

147.

2010 g FearfA wrefirek feror free W[ g SIhR It i Tatad T8 2

(1) wd foan sifyam ) e faamor

(3) dftent fagmor @) fowr faemr

Which scheme the Central Government is implementing for providing primary education
to all upto 2010 ?

(1) Sarva Shiksha Abhiyan (2) Adult Education

(3) Military Education (4) Extension Education
www.upscfever.com

148.

%. YRAHTT T WeaTg Wieiiadaht hivTel Wami Gafed TR ?

(1) sfHed 2) Tew 3) = 4) <
With which game mentioned below K. Shashikiran is associated ?

(1) Badminton (2) Golf (3) Chess (4) Table Tennis

149.
(1) HRIEE (2) T (3) e (4) TSgEe

TR A N&Tforeh HTeishaTeaT THRONHI 6 STIE STTHRIG HISvard e :

~

India has launched the satellite in space to broadcast the education programme is :
(1) Cartosat (2) Insat (3) Kalpana (4) Edusat

150.

Grefterin! HIoTl T HTe! SRR e 2

(1) Siad SoErE AfURR (2) wrrRifaws AfueR
(3) <& g AfuHR (4) ETasAE AfUER
Which one of the following is not a Human right ?

(1) Right to life (2) Right to property
(3) Right to mercy killing (4) Right to liberty

ol hIHTETSr S / SPACE FOR ROUGH WORK
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151.

35

TefegTe SRt ST G e

192 135 126
16 | 24 15 | 18 ? | 14
(1) 24 2) 36 3) 18 (4) 63

Find the correct number in the place of the question mark :

192 135 126
16 | 24 15 | 18 ? | 14
(1) 24 (2) 36 - (3) 18 (4) 63
152. 8062 a1 WEACIE HIVTT 3ish M3 diH 3{eh! TRHI e He f¥ieeren e ?
1 8 2) 0 3 6 4) 2
Which digit should be removed from the number 8062 so that one obtains the smallest
3-digit number ?
www.upscfever.com
1 8 2 0 3 6 4) 2
153. Tferet gof &,
2, 5 16 65 326, 7
(1) 1957 (2) 1942 (3) 875 (4) 414
Complete the series :
2, 5 16, 65 32, ?
(1) 1957 (2) 1942 (3) 875 (4) 414
154. TS 23 3T 2008 ST TF 9 7 feaarar s@a. 23 R 2008 s WHAR STH™ =

Sfead v ?
(1) €HaR (2) HIBAR (3) TEAR (4) wfHER

Raju will be one year and nine days old on 23t4 August 2008. There is Saturday on 23t
August 2008. What is his birthday ?

(1) Monday (2) Tuesday (3) Thursday (4) Saturday

P.T.O0.

el SHIHTETS I / SPACE FOR ROUGH WORK
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et fafite Hha{aR BEAT @ 915 GIDV 3741 fafeda @ &= HhalgaR SOUP & 9158 HHl
Terfeen SEet ?
(1)  YSXR (2)  XSYR (3) XSXR (4) XSYS

If BEAT is coded as GIDV in a specific code, how will SOUP be written in the same
code ?

(1)  YSXR 2) XSYR (3) XSXR (4) XSYS

156.

289 ST =1 17 ST I T H&¥ 378 a9@™ 729 ST =1 Wieilel FHIVeN ey 371 ?

(1) 19ST (2) 33ST (3) 27ST (4) 29ST

If 289 ST has some relation to 17 ST, then 729 ST is related to which of the following ?
Choose the correct alternative :

(1) 19 ST (2) 33ST (3) 27 ST (4) 29 ST

157.

SR DEF=30, KLM=72 @ QRS="?

1) 102 (2) 108 @) 75 (4) 120
If DEF =30, KLM =72 then QRS="?
(1) 102 2) 108 (3) 75 (4) 120

WWW.UpPSCIEVEr,com

158. @Iet T | e 318 I Sehiel ot JEIerish! HhIv! Tddl Sa9 a1 quifad ?
T : FLE, AIS, SEL
Which of the following Venn diagram correctly illustrates the relationship with in the
class ?
Family, Brother, Sister.
T Wikfas “q PUBLIC ®1 3155 SXEOLF 371 fetfedrd. @ BIRD &1 ¥ieg i feifeet Siget ?

159.

(1) CJSE (2) AHQC (3) ELUG (4) EHQC
If PUBLIC is coded as SXEOLF, then how will BIRD be written ?
(1) CJSE (2) AHQC (3) ELUG (4) EHQC

THoedT HIHTEATS! ST / SPACE FOR ROUGH WORK
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160. Teoiear watarist yefa=rea S Jum fafire gg o,

3C 2B 4 A
27 A ? 64 B
9C 4 A 16 B
1) 8cC (2)

Find the specific term at the place of the question mark from the given alternatives :

12 B

37

(3)

16 C

(4)

18 C

3C 2B | 4A
27 A ? 64 B
9C | 4A | 16B
1) 8cC 2) 12B @) 16C @4) 18C
161. Fefamgr=an S e avwieny. upscfever.com
T4y 77| ?
@ |77 @ |= @ |7 @ |IT
Fill in the gap.
gl 4 — ?
1 |77 @ |= @ |7 @ |7
162. SR 12345 &N TIGER, 876 U MOB, T 128645 TSl &Y ?
(1) MITBER (2) TIMBER (3) MOTBER (4) MTIBER
If 12345 =TIGER and 876 =MOB then 128645="7 .
(1) MITBER (2) TIMBER (3) MOTBER (4) MTIBER

P.T.O.

o HITTATS, ST / SPACE FOR ROUGH WORK
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163. T 2 km STH eI, T IATHS dogd 4 km Tl =T I9@he d&7 2 km Al FaX T&T

SR g5 4 km TEl R AE 4@ SRAETS X ford! swodd e 9 o e ?
(1) 8 km Sf&ror 2) 8km () 4 km IH (4) 8 km ufEw

Mohan went 2 km to the north then he turned right and walked 4 km, then again turned
right and walked 2 km. Then turned left and walked 4 km. What will be the final distance
from origin and at what direction ?

(1) 8 km South (2) 8 km East (3) 4 km North (4) 8 km West
164. GIeiiel AEREHEMIT [I1e & g Aedl.

(1) IDHNI (2) ATIHMRA (3) RUDU (4) PENAL

Find out the odd set of alphabets from the following :

(1) IDHNI (2) ATIHMRA (3) RUDU (4) PENAL

165.

TehT Hishiden oA 24685 & e 33776 it fafeara @ < Gahamed 86125 +4 fafgar 35w 2
(1) 85216 (2) 95126 (3) 59216 (4) 95216
In code language 24685 is written as 33776. How will 86125 be written ?

(1) 85216 WWWUB%lgféver cor®) 59216 (4) 95216

166.

eI fawgTean ST ST S1&R v 3 fost

1 C 5 ?

A 3 E ?

1 Z 2 u 3 £ 4 &
n 3 @ 7 G % @ -
Write down correct letter and number in place of question mark.

1 C 5 ?

A 3 E ?
0 3 @ - ®) - @ -

HeHT HEMETS ST / SPACE FOR ROUGH WORK
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167. 3Tq GURAT TOTEH, T SAE <A Sfgvi=ar Jar= Hrayh qreh o7E 8. @ <1 Qi 714 &4 ?
(1) S-S (2) -y
(3) TH-9IS @)
Uday tells Sudhir, ‘Your mother’s sister’s son’s aunt is my mother’. What is the relationship
between Uday and Sudhir ?
(1) Brothers (2) Uncle and nephew
(3) Cousins (4) Friends
168. 5 oo, 5 AW, 5 i+ @M. @ 1 e, 1 A fehdt fafer amge ?
1
(1) 1 fafe @ 3 fafre (3) 5 fafre (4) 25 fafee
5 herons eat 5 fishes in 5 minutes. Then, in how many minutes will one heron eat 1 fish ?
1 ‘
(1) 1 minute (2) 5 minute (3) 5 minutes (4) 25 minutes
) - Wwww.upscfever.com
169. T faf¥Tg Wishfas wid 324 ‘Light is bright’, 629 WUl ‘Child is beautiful’ 3701 4758
/S prefer bright clothes’ T 98T ‘Light’ T SHI% &g v ?
1 3 2 7 @ 2 COR
In a specific code language, 324 means "Light is bright’, 629 means Child is beautiful and
4758 means ‘I prefer bright clothes”. Which is equivalent word for ‘Light’ in that language ?
L 3 @ 7 | @) 2 4) >
170. TS FARET elT 8. Il =T Gerfft 3. R W= T 3ed & IS Siemel ard

14 ? .
1) ¥ (2) Hgom
(3) @< (4) Herm

Rajan is son of Kumar. Sheela is a daughter of Rajani. Kumar is a father-in-law of Rajani.
What is the relation of Rajan with Sheela ?

(1) Brother (2) Brother-in-law

(3) Father (4) Son
P.T.O.

ol HIUTHTS AT / SPACE FOR ROUGH WORK
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171. GEd Aifeiehd YIAMa-8real SIF &g I8 ?

6, 14, 22, 30, ?

1) 2 (2) 3 @ 5 4 8
In the following series, what will come in the place of question mark ?

6, 14, 22, 30, ?

1) 2 (2) 3 @ 5 4 8

172. & FoAm feoiedn =R Teeimed w1t W fodedn Rd. Udish! Irtet dF e

&A1 FTE 190 esard Qo Tt Mdidiel G fm UTesd el qeterden! e 7 S| gt

N7 s N
" " ver com " "

Given below are four figures with certain numbers arranged in a particular manner. Out
of these four, three figures follow a specific rule. Identify the odd figure which does not
follow the rule.

173.

AR 3 A 30 AR el s welears aeewre a e amdia s fadt sfemer
3 ?

(1) “E&UE 45°  (2) VEeU™ 180°  (3) WHSUM 90°  (4) SITeUH 360°

What will be the measure of the angle between hour’s hand and minute’s hand at
330 pm ?

(1) Almost 45° (2) Almost 180° (3) ~Almost 90° (4) Almost 360°

oAl HIMMEIS WM / SPACE FOR ROUGH WORK
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174. GYTE-=r= S IO 37k SHIvTar 2

® ® @
® ® @ 6 @
® ® ®
1) 1 2 4 @) 7 4) 3
Which is the appropriate number at the question mark ?
® ® @
® @@ ® 6 @
® ® ®
®n 1 2 4 @ 7 (4 3

175.

e 71 FgerveT 39 TR, S fAfgeten 39 HR. W Hed Hald g2 THd w7

1) B (2) Affea '

(3) = (4) a1 Yt A&

Anil is taller than SnWM@EYﬁEIMn Nikhil. Is Snehal the shortest amongst

them ?
(1) Yes (2) Uncertain
(3) No (4) Not Applicable

176.

Teh! Hichfash WIS GREAT & ¥ o+ x = +,d CHART —x*=+ + B ¥Ig 3141 fafgaa <=
Hhamed TEACHER 1 W15 &1 fotfeett sge ?

(1) +=x=—%x+ (2) ++*—=+-

B) *+=++o0— (4) e+*—X++ ,.

If GREAT is coded as o+ X = + and CHART is coded as —*= + +. How will TEACHER
be written in the same code ?

(1) +Xx=—*x+ (2) +H+*—=+-

(3) *+=++o~— (4) o+*—Xx++

177.

‘Har' = et 3 9 dey R S difaern

(1) e (2) g (3) TSI (4) T
‘Saint’ is related to ‘Worship’ in the same way as ‘Policeman’ is related to :
(1) Industry (2)  Security (3) Society ~(4) Job

P.T.O.

oAl HIWTETS ST / SPACE FOR ROUGH WORK
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178. WA AHEY qolged @@
1) i () HAegfatiem (3) U\ (4) @GS
Identify the irrelevant element in the group :
(1) Copper (2) Aluminium (3) Mercury (4) Iron
179. %0 of &3 :
F,,MOQT, _2 .
1) Y @ X @ Vv 4) Z

Complete the sequence :
FJ,MOQT,_2 .
1 Y @ X B Vv 4 Zz

180.

T ¥va Q9 faum feaelt oea, = 9 faumees 9 frewd weod o, feoielt faum
ATYE TEHI=A Hifedie TS At STRd.  faumR St miedt oot ot @l W[ 9y
it IW e

faam: () w4 53 @« awa.

(i) §d T TR AR
Fremd s (a) Wﬁ?&fever com
(B) it @i fa atiea
(1) W (A) TR (2) W (B) s
(3) (A) fohar (B) SRR (4) (A) foar (B) amisnt HIvRE! sReR el

In the following question, there are two statements followed by two conclusions. You
have to assume the given two statements to be true even if they seem to be at variance
from commonly known facts. Find out which of the given conclusions logically follows
from the two statements. Then decide which of the alternative is correct.

Statements : (i)  All the lamps are poles.
(if)  All the poles are doors.
Conclusions :  (A) No doors are lamps.
(B) Some poles are lamps.
(1) Only (A) follows (2) Only (B) follows
(3) Either (A) or (B) follows (4) Neither (A) or (B) follows

181.

Hichfas W™d MOHAN ®& 91=5 OQJCP &1 fafgar e MUNNA & =g &1 fafgar aga ?

(1) OWPPC (2) OWNPC (3) OWPPB (4) OWBBP
MOHAN is coded as OQJCP. How can MUNNA be coded ?
(1) OWPPC (2) OWNPC (3) OWPPB (4) OWBBP

ol HIATHTS! ST / SPACE FOR ROUGH WORK
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43
IETel ISROMYHI AR g fae
THEREFORE &1 915 TEEOERFRH 3781 S¥ifarer .
@ HELICOPTER 1 1&g TR e,
(1) HELICOREPT (2) HLCPERTOIE
(3) RETPOCILEH (4) RETPOCILHE

According to the following example, select the appropriate alternative :
THEREFORE is denoted by TEEOERFRH.

Then, HELICOPTER is denoted as ;

(1) HELICOREPT (2) HLCPERTOIE

(3) RETPOCILEH (4) RETPOCILHE

183.

farem : g i foren feeft .

AT FHIUaT ey e 3R ?

(1) VTR feerdta TRITRIAT 7% et UK AT,

2) T FOAHT FTE SO FRE T ST

(@) T wom e SRS CIGY GRLOM

(4) T TR e oA W FEIA HIE FOAER! IS Fed .

Statement : All criminals will be punished.

Which of the following conclusion is correct ?

(1) No criminal will be pardoned under any circumstances.
(2) Some of the criminals are liable to be punished.

(3) Punishment will be considered for criminals.
(

4) Efforts will be made that some of the criminals are punished while some are
pardoned.

184.

a1 Hichideh fadtd UNITY B 9IsS 76423 3791 fafgad SOLIDARITY 3 W8 8754910423 31HT
fafea @ @@= Qisfas fadid UNITARY B W 41 foerd ?
(1) 7642103 (2) 7620139 (3) 7642102 (4) 3012467

In a specific code, UNITY is written as 76423 and SOLIDARITY is wrltten as 8754910423.
How will UNITARY be written in a same code ?

(1) 7642103 (2) 7620139 (3) 7642102 (4) 3012467

P.T.O. . ---
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185. SRa<b, b<c 3NN ¢ < d, T GAIAdh! HIET TIT I R ?

(1) d>a (2) c>d

(3) a>c (4) o1 I FivrE e
Ifa<b, b<c and c <d, then which of the following is true ?
(I) d>a (2) c>d

(3) a>c (4) None of the above

186. W Tergrean Swit 4 waf ST forer

16 (120) 24

23 (120) 17

34 (1?2)26

(1) 120 () 147 (3) 180 (4) 150
Choose the correct alternative in the place of question mark :

16 (120) 24

23 (120) 17

34 (1?2)26

(1) 120 (2) 147 (3) 180 (4) 150

#&?SCTEVEI’.COFH

Wwww
187. gyl S A 4aig

ws]
ws]
@
Gile!

O @ = G 7 (4)

B <
7 7

a0

() )

188. o= o IWQET 9 THaTE Bid. a1 ferd! quiAT Ger=merd auie dgd ?
1) 3 (2 15 3 11 4y 12
Thirteen years back, Neha's age was twenty-one years. After how many years will Neha
be of age forty-five ?

1) 3 2) 15 3) 11 4) 12

HeeT HIWHEGS 9T / SPACE FOR ROUGH WORK
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189. SR BED=4108, X MED =2

(1) 3818 (2) 26108 (3) 1914 (4) 1909
If BED=4108, then MED="?
(1) 3818 (2) 26108 (3) 1914 (4) 1909

190. Greilel 0ild Y& AV HE&AT Hivr! ?

5 6 9 11

157 247 457 ?
(1) 66 2) 50 3) 60 (4) 44

Which number will come next in the following series ?

5 6 9 11

157 247 457 2
(1) 66 2) 50 (3) 60 4) 44

191. a2 sFcaived SR 3 & VT, 2
W.upscfever.com

a I—b— c
1) « 2) a (3) b (4) aﬁaﬁﬁmﬁﬁmﬁr

Which alphabet is common in all the three figure ?

(1) ¢ 2) a 3) b (4) None of these

192. SR x=2y—5 30 y=3x—5, T x+y=2
1 3 2) 1 @) 7 (4) 4
If x=2y—5 and y=3x—>5, then x+y="7

1) 3 (2) 1 G 7 4) 4
' P.T.O..

oAl RIS AFT / SPACE FOR ROUGH WORK
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193. = U7 .
92, 89, 83, 74, 62,
(1y 47 (2) 51 (3) 42 (4) 46
Complete the sequence.
92, 89, 83, 74, 62, __
(1) 47 (2) 51 3y 42 (4) 46
194. T Hishfas Wod SENT @1 + + x — Tafget 38 9 ANT & *x — fafeet o7 & TEN @1 %8
[SIGEURESE
(1) *-x 2y —-=+x @) x=x (4) +x-=
In a code language, SENT is written as ++ X — and ANT is written as * X —, then TEN
is written as .
(1) *-x (2) —=+x 3) x=+x 4) = x-
195. Wreile HaR Hoitaes g1 v 97y JaRaqe e -
mnjkl, klmnj, njklm, Imnjk, ?
(1) jklmn (2) mnlkj (3) kmnl (4) nljkm
In the following serles flnd the mjssing letters in place of the question mark.
| e ;cfsevér com
mnjkl, klmnj, n]klm lmn]k
(1) jklmn (2) mnlkj (3) kjmnl (4) nljkm
196. NOODLES ¥ Wdle® SELDOON #=d @ DETIMIL ¥ ¥dish %14 giea ?
(1) TENDER (2) WHILE (3) LIMITED (4) HOTEL
If NOODLES is to SELDOON then what is to DETIMIL ?
(1) TENDER (2)  WHILE (3) LIMITED (4) HOTEL
197. T S WM @T= JAaX . 90,000 ATH! faean velt, 4 gt 9 6 qeit Ai=mand! 39 g

Jeh el o=l ThA=AT due  Fodeh Hellen e A=l W&a=a goie e e ™
Yok AT 1T Rl e ?

(1) 16,000 (2) 8,000 (3) 4,000 (4) 2,000

A rich man on his death left Rs. 90,000 to be divided amongst his widow, four sons, and
six daughters. He directed that each son should receive four times the amount of daughters

and every daughter should get two times the amount of their mother, what was each
son’s share ?

(1) 16,000 (2) 8,000 (3) 4,000 (4) 2,000

THoAT hTHTETS! TN / SPACE FOR ROUGH WORK
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198. W39 & 31 SHART 2004 d 1 A4 2005 944 TREsk . W Yo fodt foow srafeed oime ?
(=T feag ue )
(1) 39 2) 395 3) 397 (4) 426

Pradeep was absent from 315t January 2004 to 1t March 2005. For how many days he
was absent (Including both the days) ?

(1) 396 (2) 395 3) 397 (4) 426

199. 9 =N wfguiden 732 feadiAl 98T 3R, =1 -9 QIHa Al 9 ST=l Sguien ST 9’
HIOTT ?

(1) wieR (2) eam (@) T (4) A

Ravi is older than his sister by 732 days. He was born on Monday. Then on which day
was his sister born ?

(1) Saturday (2) Sunday (3) Thursday (4) Friday

200. a7 W fegd @efa At Qo 4 :

E . _1_ .. E =72 f

L2 x  ° www.upscrever.com

1 1 2 1 3 1 4 1
5 @ 3 G @ 3
Complete the following series by choosing correct alternative.
F1.E_»

Tigiiy T4

Nl o1 5 1 o 1
M) @ 3 ®) @

-00o0-

P.T.O.

oAl IS AT / SPACE FOR ROUGH WORK
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